Fig. S1

_ 5 mG3EAcl6

= |

> O

L a

55

S5

g =

2R 1

=3

3 E

X o

< 05
0 % |
PanK1 PPCS-PPCDC PPAT DPCK1 DPCK?2
Genes
) - i PPAT

=, PanK1 05 PPCS-PPCDC 0.20
% §_ 0.4 -
- < : 0.15
o Z
ol 0.3 -
= 0.10 -
- 02
o @
£ = 01 - 0.05 1
T2 oo . . . . . 0.0 0.00

00 05 20 80 240 480 1200 00 05 20 80 240 480 1200 00 05 20 80 240 480 120.0

Time (h)
= 30 DPCK1 0.14 DPCK?2
[

38 0.12
5§ 0.10 -
(7
= 0.08 -
L=
x ; 006 4
° 3
2 0.04 -
[ss
3 E 0.02 -
X o
< 0.00

0.0 0.5 2.0 80 240 480 120.0 0.0 0.5 2.0 80 240 480 1200

Time (h)



Fig.

S3

S s P £ e v P e e T P e e s s R £ e e s P pEl el e pE el e

B s P £

.histolytica
.nuttali
.sapiens PanK4
.sapiens PanK3
.thaliana PanK2

.histolytica
.nuttali
.sapiens PanK4
.sapiens PanK3
.thaliana PanK2

.histolytica
.nuttali
.sapiens PanK4
.sapiens PanK3
.thaliana PanK2

.histolytica
.nuttali
.sapiens PanK4
.sapiens PanK3
.thaliana PanK2

.histolytica
.nuttali
.sapiens PanK4
.sapiens PanK3
.thaliana PanK2

.histolytica
.nuttali
.sapiens PanK4
.sapiens PanK3
.thaliana PanK2

.histolytica
.nuttali
.sapiens PanK4
.sapiens PanK3
.thaliana PanK2

.histolytica
.nuttali
.sapiens PanK4
.sapiens PanK3
.thaliana PanK2

MAGQEDEYDPILDNKREAEAKSQVSVAADKNMAPSTSGTPIHRS-GSRPQLDLSKAEIQG

TFEQYEFTKTQSPLPLNGVRRRTAPLSADMEGTMTKIVFWIPGDTDIDLPK—YVEPEESV
NFEQYEFTKTQSPLPLNGVRRRTAPLSADIGGTMTKIVFWIPGDTDIDLPK—YVEPEESV
——DSLDKSITLPPDEIFRNLENAKRFAIDIGGSLTKLAYYSTVQHKVAKVRSFDHSGKDT
———————————— MKIKDAKKPSFPWFGMDIGGTLVKLSYFEPIDITAEEEQEEVESLKSI
NLEERDPTILL-—-—-—- PNQSDDISHLALDIGGSLIKLLYFSRHEDYSNDDDKRKRT——IK

* kK *

———————— MSGFDLYPD--PVLKVTMNSKGENELCFMKFPTSQIPEFTHYAKTSKLKET -
———————— MSGFDLYPD--PVLKVTMNSKGENELCFMKFPTLQIPEFTHYAKTSKLKET -
—————————— EREHEPP--YEISVQ--EEITARLHFIKFENTYIEACLDFIKDHLVN---
RKYLTSNVAYGSTGIRDVHLELKDLTLFGRRGNLHFIRFPTODLPTFIQMGRDKNEF—-———
—————————— ERLGITN--GNLRSY—PVLGGRLHFVKFETHKINECLDFTHSKQLHRRDP

-YG-————-—- IGNLOILNVTGGGAYKFANLLKDEMDLEVRQODEMRCLVLGVNFLLLCC--
-YG-————-—- IGNLOILNVTGGGAYKFANLLKDEMDLEVRQODEMRCLVLGVNFLLLCC--
—————————— TETKVIQATGGGAYKFKDLIEEKLRLKVDKEDVMTCLIKGCNEVLKNI-—
————————— STLOTVLCATGGGAYKFEKDFRTIGNLHLHKLDELDCLVKGLLYIDSVSEN
PYPWSSKTLPLGTGVIKVTGGGAFKFADLFKERLGVSIEKEDEMHCLVSGANFLLKAI--

*kkokk koK * *kKk K
QEKLCFREVNKTKL-—-——- YREVTPEIFPYLLVNVGSGVSILKVTAPEKYERVSGSLIGG
QEKLCFREVNKTKL-—-——-- YREVTPEIFPYLLVNVGSGVSILKVTAPEKYERVSGSLIGG

-PHEAFVYQKDSD--PEFRFOQTNHPHIFPYLLVNIGSGVSIVKVETEDRFEWVGGSSIGG
GOAECYYFANASEPERCQKMPENLDDPYPYLLVNIGSGVSILKVHSKDNYKRVTGTSLGG

-RHEAFTHMEGEK--EF--VQIDPNDLYPYLLVNVGSGVSIIKVDGEGKFERVSGTNVGG
kxkkkk Kkrkkkkx K * kK *

GTFWGLCCLLTNYKSFDEMLOAAQYGQHONVDLYVKDIYGR-CYDSVGLAADMMASSFEFGK
GTFWGLCCLLTNYKSFDEMLQOAAQYGQHONVDLYVKDIYGR-CYDSVGLAADMMASSFEFGK
GTFWGLGALLTKTKKFDELLHLASRGQHSNVDMLVRDVYGGAH-QTLGLSGNLIASSFGK
GTFLGLCSLLTGCESFEEALEMASKGDSTQADKLVRDIYGG-DYERFGLPGWAVASSFEGN
GTYWGLGRLLTKCKSFDELLELSQKGDNSAIDMLVGDIYGGMDYSKIGLSASTIASSFEGK

* % * % * kK R S 4 * * kK * * * kK kK

IQKVPCGEAKNHYSEADIAQGLMMMVCGSIAHLGFELTKLHHINRIFYTEGFVAHNPVVW
VQKVPCGEAKNHYSEADIAQGLMMMVCGSIAHLGFELTKLHHINRIFYTEGFVAHNPVVW
SATA——DQ———EFSKEDMAKSLLHMISNDIGQLACLHARLHSLDRVYFGEFFIRGHPVTM
MIYK——EK—RESVSKEDLARATLVTITNNIGSVARMCAVNEKINRVVFVENFLRVNTLSM
AISE——NKELDDYRPEDISLSLLRMISYNIGQISYLNALRFGLKRIFFGQFFIRGHAYTM

* * * *  x

EAITTMLTTWSSGSVDANFLEYDGYFGSIGALLLSEYEEE--LM-———=—-—=——————————
EAITTMLTTWSSGSVDANFLEYDGYFGSIGALLLSEYEEE--LM-—=—-——-—=——————————
RTITYSINFFSKGEVQALFLRHEGYLGAIGAFLKGAEQDNP--—-—-—-——-- NQYSWGENYAG
KLLAYALDYWSKGQLKALFLEHEGYFGAVGALLGLPNFS---=-=-=-=-—-—-———————————
DTISFAVHFWSKGEMQOAMFLRHEGFLGALGAFMSYEKHGLDDLMSHQLVERFPMGAPYTG

* ok * k%K * * * )

28
28
21

59

87
87
79
48
112

136
136
122
104
159

187
187
170
155
217

242
242
227
215
272

301
301
286
274
332

361
361
341
331
390

403
403
393
370
450



(e@) 11BN

o o
m g 8 s®” 5 & A& S4
WNw 00€
2
(@]
N | ww oot
2
1=
£ | wwos
S
o
3
=i W 0g
L
Ww 0T

uoldelj punoqun

alesA| [e1oL

[199 3]0y

(e@) JodteIN

Fig. S4



Fig. S5
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